OPEN FIRST!!

Parts list for
Master set # 3.18123

1963-82 Chevrolet Corvette

NOTE: Energy Suspension recommends that a factory
service manual be purchased and you read over all the
installation instructions and parts list prior to
Performing any work on your vehicle.

Parts list:

Transmission mount: set: 3.1108
1 - 1036 mount

1-15.08.10.39 backing plate.
2-15.03.48.39 (7/16" lock washer)
4 -15.03.42.39 (7/16" flat washer)

2 -15.05.30.39 (7/16"-14 x 1" bolt)
1 - 17112 installation instructions.

Power steering ram bushing set: 3.10102

2 - 8052 bushings

1-15.10.152.39 (.500"0.D. x .375"1.D. x 1.125” sleeve)
2-15.03.01.39 (1.250"0.D. x .375" I.D. Cup washer)

1 - 15.08.87.40 (1/6"Dia. X 3/4” Lg. Cotter pin)
1-15.07.22.40 (3/8-24 slotted nut)

1 - 17361 installation instructions.

Front control arm bushing set: 3.3108

4 - 3001 bushings (upper positions)

4-15.10.11.39 (.813"0.D. x .675"1.D. x 1.562" sleeve)
4 -15.02.05.39 "E" shells (1.064 length)

4 - 3002 bushings (lower positions)

4 -15.10.184.39 (.875"0.D. x .750"1.D. x 1.900" sleeve)
4 -15.02.10.39 "J" shells (1.390 length)

1 - 17019 installation instructions

Rear control arm bushing set: 3.3191:

Must reuse the outer metal shell

4 - 3044 bushings

2-15.10.134.39 (.750"0.D. x .500”1.D. x 2.000"sleeve)
4 -15.03.103.39 (1.625" O.D. x .450” I.D. washer)
Use - 17366 installation instructions

Rear spring cushion set: 3.2104
4 -4012

Differential pinion mount set: 3.1101
1 - 4046 bushing
1 - 4047 bushing

Ball joint boot set: 9.13125
2 - 13009 ball joint boots
2 - 13010 ball joint boots

Tie-rod boot set: 2 EA 9.13101
4 - 13001 tie-rod boots

Grease:
3-9.11101 grease tubs

| V] - = Nl 7 4
=L ] 7\ X D 4

SUSYENSI{N.

1131 VIA CALLEJON, SAN CLEMENTE, CA 92673

Parts list continued:

Rear strut arm bushing set: 3.7118

there are two different sizes of strut rods.

You must determine which size you have.

8 - 7005 bushings (for vehicles with 1-1/2” O.D. Rod end)
8 - 7115 bushing (for vehicles with 1-3/4” O.D. Rod end)
4 - 15.10.53.39 (.875"0.D. x .625"1.D. x 1.675" sleeve)

4 - 15.03.99.39 (1.295"0.D. X .500” cap washers)

2 - 15.08.88.40 (1/8"Dia. X 1-1/4"Ig cotter pin)

1 - 17326 installation instructions

Front sway bar end link bushing set: 9.8120

8 - 4806 end link grommets

8 - 15.03.01.39 (cupped washers)

2 -15.10.22.39 (.563"0.D. x .375"1.D. x 1.650" sleeve)
2 - 15.05.02.39 (3/8"-16 x 5-1/2" bolt)

2 -15.07.01.40 (3/8"-16 nut)

Rear sway bar and end link bushing set: 3.5153
2 - 5001 (7/16" bushing)

2 - 15.08.01.39 bushing bracket

4 - 15.03.23.39 (.702"0.D. x .402" 1.D. washer)

4 - 4904 end link grommets

4 - 15.10.92.39 (.563"0.D. x .375".D. x .800” sleeve)
1 - 17056 installation instructions

Additional parts available for your vehicle:

Universal/multi. application swaybar bushing sets:

Greasable Bar Non-greasable
Set # Diameter Set#
9.5151 - 716" - 9.5101
9.5152 - 12" - 9.5102
9.5153 - 9/16" - 9.5103
9.5154 - 5/8" (16mm) -- 9.5104
9.5155 ----- 11/16" - 9.5105
9.5156 ----- 3/4" (19mm) -- 9.5106
9.5157 -—--- 13/16" --—-- 9.5107
9.5158 ----- 7/8" (22mm) -- 9.5108
9.5159 -——-- 23mm - 9.5115
9.5160 ---- 15/16" (24mm) 9.5109
9.5161 ----- 1" - 9.5110
9.5162 --—-- 11/16" ---—-- 9.5111
9.5163 ----- 28mm - 9.5130
9.5164 ----- 11/8" - 9.5112
9.5165 --—-- 11/4" - 9.5113
9.5166 ----- 32mm - 9.5116
9.5167 ----- 15/16" ----- 9.5114
9.5168 --—-- 13/8" - 9.5136
Body mount sets:

1973-82 Corvette set# 3.4126
1963-69 Corvette set# 3.4102

Please refer to our newest catalog for more information on
custom applications including bump stops, shock bushings,
universal mounts, tie rod boots, ball joint boots,transmission
mounts, etc. please ask to see catalog at your place of
purchase.

1 7 1 9 8 © 2007 Energy Suspension. All rights reserved.
May not be reproduced, in any form, or by any means,
without the written consent of Energy Suspension.

30/APR/08 BRH




	Page 1

